TERM - 1 MATHS
CLASS: XII MATHEMATICS (041)
CHAPTER:2 INVERSE TRIGONOMETRIC FUNCTIONS
WORKSHEET 2

Q1

Which of the following is the principal value branch of cos 'x ?

@) |33
(b)(0,m)
(c) [0, ]
(d)(©0,m -3}

Q2

Which of the following is the principal value branch of cosec™1x ?
(a) (—5,5) .

(b)(0,m) — 3}

(c) [—g,g]

Q3

(d) [- 5.5 - (0

The value of sin! [cos (33?“)] (1T
(a)=

(b)="

(c) 55

(d)5

Q4

The domain of the function cos1(2x — 1)iS .cveeuess

(a) [0,1]
(b)[-1,1]
(c) [0,1/2]
(d)[0, ]

Q5

The domain of the function defined bysin~!(vVx — 1)is .....
(a) [1,2]

(b) [-1,1]

(c) [0,1]

(d) None of these

Q6

The value of cos™! (cos 32—n) IS cvveranas
(a);
(b)>
(=

(d)>




Q7 | The value of 2sec™1(2) + sin™! (%) IS cevevares
(a) ¢

(b)=

(c) =

(d)1

Q8 |Ifcoslx>sin"lxthen ...........
1

(a) N3 <x<1

(b)0 <x<—

(c) -1<x<

(d)x>0

L
vz

Q9 |cos? (cos 7?“)= .......
(a) ¢

(b)=

(c) —%

(d)=

Q10 | The value of cos™! [cos (— E)]= .....

(a) -3
(b);
(c) ¥

()=

Q11 | The value of sin! [sin (5?")]= .....

(a) -3
(b)=
(o) 3
()=

Q12 | o5t (?) + 2sin™?! (?) is
(a) =

(b)f

(c) ¥

()T




Q13 | The value of sin! [sin (7?")]= .....

(a) ¢
5m

(b)¥

(c) -7

()=

Q14 sin {g —sin™?! <<— %))}
(a)o

(b);

OF
(d)1

Q15 | value of sin (cos‘lg) is

(a) 1/2
(b) 3/5
(c) 2/3
(d)3/4

Q16 | value of cos (tan‘1§) is

(a) 2/3
(b)1/2
(c) 3/4
(d)3/5

Q17| 52 (sin‘1 (%)) + sin? (cos‘1 (%))
(a) 1/2

(b)1

(c) 3/2

(d)2

Q18 sin™! (%) +2cos™1 (— ?) =
(a);

(b)m

(c) ¥

(d)>

Q 19 | The value of cos™! [cos (43—”)]= .....




(a);
(b)=
() F
(d)-3

Q 20 | The value of tan™! [tan (%”)]= .....

(a) -3
(b);
(c) =

(d)-=

Q21 | (g+cos‘1(—1)) =

(a) 1/2
(b)-1/2
(c)1
(d)-1

Q 22 | Domain of sin"!x is

(a) [0,1]
(b)(—00, )
(c) [0,x]
(d)[-1,1]

Q 23 sin|tan~1(—v3) + cos ™1 (_ \/75)] — ...

(a)1
(b)-1
(c)o
(d)2

Q 24 | The solution set of sin"'x < cos 'x is

1
(a)ESxS

1
(b)—% <x< 1

(d)-Z<x<—

Q 25 | If tan ' x > cot ' x then..

(a)x>1
(b)x<1




(c)x=1
(d)xeR

Q 26 | value of cos E+ cos~! (—%)] = .
V3
(a) -
3-1
(b)>7
(@
V3+1
(d)55
Q 27 | If sin"lx = y, then
(a) —g <y< g
(b)-Z<ys<?
(c)o<y<m
(do<y<m
Q 28 cot-1 <\/1 —sinx +V1+ sinx) e (0<x< E)
V1 —sinx —v1 —sinx 2
(a);
(b)g—Zx
(c) 2mr—x
(d)n’—g
Q29 s [tan‘1 {cot (sin™?! %)}] =
(a) 1
(b) 1/4
(c) 1/8
(d)1/2
Q 30

cot-1 Vi+x2 -1
x

(a) —%tan‘lx

(b)cot 1x
T_lianl

(c) ;—tan"'x

T_1otl
(d)2 Scot™ " x

CASE STUDY: 1

Read the following text and answer on the basis of the same:
The value of an inverse trigonometric function which lies in the




range of principal branch is called the principal value of that
inverse trigonometric function.

Q1

Principal value of sin™! (%) is
(a):
(b)§
(o)
(d)§

Q2

Principal value of tan"1(1) is
(a);

(b)

(o)

(d)%

Q3

Principal value of cot™'(v3) is

(a);
(b):
(c)7
(d)?

Q4

Principal value of sin"1(1) + sin™! (\/ig) is
(a)2rn
(b) =
3w
(C)&T
(d);

Q5

Principal value of 2cos™1(1) + 5 sin™! (\/ig) s
3

(a)+

(b);

(c);

()=

CASE STUDY: 2

The Government of India is planning to fix a hoarding board at the
face of a building on the road of a busy market for awareness on
COVID-19 protocol. Ram, Robert and Rahim are the three
engineers who are working on this project. "A” is considered to be
a person viewing the hoarding board 20 metres away from the
building, standing at the edge of a pathway nearby. Ram, Robert
and Rahim suggested to the firm to place the hoarding board at
three different locations namely C, D and E. "C"” is at the height of




10 metres from the ground level. For the viewer A, the angle of
elevation of "D"” is double the angle of elevation of “"C” The angle
of elevation of “E” is triple the angle of elevation of “C” for the
same viewer.

Look at the figure given and based on the above information

answer the following:

E

10m

A Sm A 20m B

Q1

Measure of £CAB =
(a)tan™12
(b)tan™1(3)
(c)tan"11
(d)tan"13

Q2

Measure of ZDAB =
(a)tan‘lz
(b)tan~1(3)
(C)tan‘lg

(d)tan 14

Q3

Measure of LEAB =
(a)tan~'11
(b)tan~1(3)

_11
(c)tan m

(d)tan‘l%;

Q4

A’ is another viewer standing on the same line of observation
across the road. If the width of the road is 5 meters, then the
difference between 2CABand«CA’B is




(a)tan!

(
(b)tan—l(

)
)

QIR N

(C)tan‘lg
1

111
(d)tan a

Q5

Domain and range of tan"'x =
@r" (-3 3)
oy (-2, 2
(. (-2

2

(d)R,(0,3)

T
E:
T
2

)
T
2

CASE STUDY: 3

Two men on either side of a temple of 30 meters high observe its
top at the angles of elevation « and B respectively. (As shown in
the figure above). The distance between the two men is 403
meters and the distance between the first person A and the
temple is 30V3 meters.

Based on the above information answer the following:

Q1

ZCAB =a =...
(a)sin™! (j_§
(b)sin! (%)
(c)sin1(2)
(d)sint (2)

N——

Q2

Q3




(a)tan™'())
(b)tan=1(2)

(C)tan‘1%
(d)tan~1+/3
Q4 | <ABC=
(a);
(b)g
(c);
(d)§
Q5 |Domain and range of COS 1x =

(a)(—l, 1)1 (01 Tt)
(b)[-1,1],(0,m)
(C) [_1' 1]' [0' T[]

(d)(-11,[|-3 %]

2" 2




ANSWERS
TERM - 1 MATHS _
CLASS: XII MATHEMATICS (041)
CHAPTER:2 INVERSE TRIGONOMETRIC FUNCTIONS

Q1 (<) [0,m]

Q2 |[(I)[-23-

Q3 [ (d)

Q4 | (a)[0,1]

Q5 |(a)1,2]

Q6 [(a)]

Q7 | (b)%

Q8 |(c)-1<x<

Nl

Q9 | (b)T

Q10 (b)g

Q11 | (a) —g

Q12 (a) 5?”

Q13 [(c) I

Q14 | (d)1

Q15 | (b)3/5

Q16 | (d)3/5

Q17 | (c) 3/2

Q18 | (d)~

Q19 | (b)=

Q20 [(a) -}

Q21 | (b)-1/2

Q22 | (d)[-1,1]

Q23| (a) 1

Q24 (c)-1<x<—

Q25 | (a)x>1

Q26 (a)-2

Q27 [(b)-Z<y<:

| ™
NIxl A

Q28 | (d)=




Q29 | (d)1/2
Q30 | (0) g— %tan‘lx
ANSWER TO CASE STUDY: 1
Q1 |(a):
Q2 | (o)
Q3 (o)t
Q4 | (o)F
Q5 (i)
ANSWER TO CASE STUDY: 2
Q1 | (b)tan"'(y)
Q2 (c)tan‘lg
Q3 | (d)tan '
Q4 | (b)tan! (g)
Q5 |(r (1Y)
ANSWER TO CASE STUDY: 3
Q1 | (b)sin!(5)
Q2 (c)cos™? (?)
Q3 | (d)tan"1v3
Q4 (o)

Q5

(C) [_11 1]1 [01 Tt]




